Larson Calculus 7.0 Section 2.4

In Exercises 7-34, find the derivative of the function.

T.y=(2x—-7)
9. glx) = 3(4 — 9xp
11. flx) = (9 = x2)*°
13 f( = V1 -1

15, v = J9x2 + 4

17. y =2 4 — x?
1

! =

19. —

21. fin) = (:)

R —

25, flx) = x¥x — 20
27. v = x /1 — x?

20, v = x
. ¥+
+ 54
3. zix) = |
1= 2
3%,_r{»-1=(|+:)

8 y =2+ 1)
10, y =34 — 7
12. fir) = (9r + 225
14, gix) = 5= 3

16, gix) = a* — e+ 1

18. flx) = —332 — oy

20, slt) = :

P 3 =1
- 5
2= iy
1
U gl = /73

26. flx) = x(3x — 9)°
28, v = %x:J]ﬁ — x¢

_ X
W= e
242
32 lr) = (r-‘+2)
3t =2
M‘J”{'}_(zwa)



In Exercises 47-66, find the derivative of the function.

47. v = cos 3x 48. v = sinwx

49, glx) = 3tan 4x 50, hlx) = sec x?

51. v = sin{wx)? 52, v = cos(l = 2x)?

53, hlx) = sin 2x cos 2x 54, 2(#) = sec(36) tan(L0)
57. v = 4dsec’y 58. v = 21an’

59, f(f) = | sin?28 60. g(r) = 5 cos?

61, (1) = 3sect(mr — 1) 62, h(n) = 2cot(mr + 2)
63, v = Jx + § sin(2x)? 64. v = 3x — 5 cos{mx)?

63, v = sinfcos x) 66, v = sin 3x + sinx

In Exercises 75-78, (a) find an eqguation of the tangent line to the graph of [ at
the indicated point, (b} use a graphing wtility to graph the function and its tan-
gent line at the point, and (c) use the derivative feature of a graphing utility to
conlirm yvour resulls,

Funcrion Poinr
75, flx) = V3xP =2 (3. 5)
76, f(x) = x/x* + 5 (2,2)
77. flx) = sin 2x (om0}
78. flx) = tan®x (; ]J

In Exercises 79=82, find the second derivative of the function.
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81. filx) = sin x2 82. flx) = sec?wrx

79, fla) = 2(x* — 1)° 80. flx) =




In Exercises 83—86, the graphs of a function f and its derivative /" are shown.
Label the graphs as f or /" and write a short paragraph stating the criteria
used in making the selection. To print an enlarged copy of the graph, select
the MathGraph button.

In Exercises 87 and 88, the relationship between f and g is given. State the
relationship between /" and g°,

87. glx) = f(3x) 88. glx) = flx?)
89. Given that g(5) = =3, g(5) = 6, h(5) = 3, and h(5) = =2, find f(5) (if

possible) for each of the following. IT it is not possible, state what additional
information is required.

(a) flx) = glxihix) (by flx) = glhix))

(©) fix) = ﬂ—"i @ f() = [g(]?



101. Think About It Let Hx) = flglx)) and s(x) = gl f(x)) where f and g are shown
in the figure. Find (a) 11} and (b) s 14).

In Exercises 105-108, use the result of Exercise 104 (o find the derivative of the
function.

105. glx) = |2x — 3| 106. flx) = |x — 4|

107, hix) = |x| cosx 108. fix) = |sin x|



